Total

Date	1/3/2019

Type of event	Snow 4-6"								
Time Called Out	5am								
Time Event Finished	3:30pm								
	Unit cost Cost								
Total SaltTons	69 \$ 54.53 \$ 3,762.57								
Total CalcGal.	345 \$ 1.45 \$ 500.25								
Total Sand Salt-Yds	148 \$ 12.09 \$ 1,789.32								
Fuel- Diesel Gal.	447 \$ 2.57 \$ 1,148.79								
Fuel Gas Gal.	93 \$ 2.42 \$ 225.06								
Total Miles	2042								
Equipment Repairs	\$ 7,621.33								
Cutting Edges									
Labor,Over Time	47 \$ 30.00 \$ 1,410.00								
Highway,Mechanics & Buildings & Grounds	\$16,457.32								

Date <u>1/8,9</u>	_								
Type of event	snow 2" sleet, freezing rain, rain, freezing rain back to snow 2"								
Time Called Out	5am on 1	8		8:30 pm on 1/8					
Time Event Finished	5:30pm o	n 1,	/8	6:30pm on 1/9					
		Un	it cost	Co	st				
Total SaltTons	194	\$	54.53	\$	10,578.82				
Total CalcGal.	970	\$	1.45	\$	1,406.50				
Total Sand Salt-Yds	739	\$	12.09	\$	8,934.51				
Fuel- Diesel Gal.	1506	\$	2.57	\$	3,870.42				
Fuel Gas Gal.	135	\$	2.42	\$	326.70				
Total Miles	5174								
Equipment Repairs				\$	16,728.11				
Cutting Edges					1724.2				
Labor,Over Time	283	\$	30.00	\$	8,490.00				
Highway,Mechanics & Buildings & Grounds				\$	52,059.26	Total			

Date	1/20,21
	_

Type of event	Snow 8" sleet								
Time Called Out	12:30am on the 20th 4am on the 21st								
Time Event Finished	8pm on the 20th 7am on the 21st								
Total SaltTons Total CalcGal. Total Sand Salt-Yds	Unit cost Cost 160 \$ 54.53 \$ 8,724.80 800 \$ 1.45 \$ 1,160.00 350 \$ 12.09 \$ 4,231.50								
Fuel- Diesel Gal. Fuel Gas Gal.	1184 \$ 2.57 \$ 3,042.88 95 \$ 2.42 \$ 229.90								
Total Miles Equipment Repairs Cutting Edges	\$ 1,935.57								
Labor, Over Time Highway, Mechanics & Buildings & Grounds	435.5 \$ 30.00 \$13,065.00 \$32,389.65 Total								

Date	1/24,25
Duic	172-1,20

Type of event	rain black ice at night								
Time Called Out	2am full crew on the 24th / 3am 3 men on the 25								
Time Event Finished	3:30 PM								
Total SaltTons	Unit cost Cost \$ 54.53 \$ -								
Total CalcGal.	\$ 1.45 \$ -								
Total Sand Salt-Yds	225 \$ 12.09 \$ 2,720.25								
Fuel- Diesel Gal. Fuel Gas Gal.	290 \$ 2.57 \$ 745.30 \$ 2.42 \$ -								
Total Miles	1212								
Equipment Repairs									
Cutting Edges									
Labor,Over Time Highway,Mechanics & Buildings & Grounds	44 \$ 30.00 \$ 1,320.00 \$ 4,785.55 Total								

Date	1/29,30	_										
Type of ev	ent	snow 6" o	n th	ne 29th	/snc	ow_squall	2" on the 30th					
Time Called Out 8pm on the 29th				9th / 9:	30nn	n on the :	30th					
Time Even	t Finished	3:30pm o	1 th	ie 29th /	3:30	D pm on t	he 30th					
Total Salt	Tons	152		it cost 54.53		st ,288.56						
Total Calc	-Gal.	760	\$	1.45	\$1	,102.00						
Total Sand	Salt-Yds		\$	12.09	\$							
Fuel- Diese Fuel Gas G			\$ \$	2.57 2.42	\$ \$							
Total Miles												
Equipment I	Repairs											
Cutting Edg	es					 ,						
Labor,Over Highway,Me Buildings &	echanics &		\$	30.00	\$ \$9,	390.56	Total					
Event Note:	<u>s</u>					_	_					
		-								 •		
										 _		
								-		 		
							·		· · · · · · · · · · · · · · · · · · ·			
										 		
	,									 -		